


1. (@) Explain four sampling technigques used in data collection. (B marks)

{b)  The following data shows the net output of a certain manufacturing industry.
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() construct the Lorenz Curve,

(ii} - commenton the level of distribution in the outpit. _-j
{12 miurks)

e

A
Z. (a) Highlight four difficulties :nmnng@'n the computation of index numbers. (8 marks)
\

(k) Table 1 shows the prices and ities of different commodities in a certain region
from the year 2012 and IDCL\Q\.
Table 1 _@,{3}
2012 2013 :
COMMODITY | Quantity | Price (shs) | Quantity | Price (shs)

A 12 160 14 200
B 8 240 12 280
G 16 80 18 106
D 10 100 14 140 S
E 14 &0 16 90 1
F 13 40 ) 180

Caleulate:

(i Laspeyre's quantity index; Efg e

{ii}  Paasche's quantity index: e {

A )
(i)  Fisher's ideal quantity index. ﬁv—'
(11 marks)
(c) Comment on the results obtained in b(in). {1 merk)
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Table 2

Price Number of days
(Shs) Stock P Stock ()
50-60 ] B
60-70 5 & ; e
70-80 28 8 i 2,
80-90 14 14 - == 3
90100 6 32 - | IANZR J
100-110 6 12 L |
110-120 2 10 e
|Dﬂ iya
Determine the: ll_I_ el T LR
cF r P r_lnl“r‘.- +
b g
(i)  arithmetic mean; £4= el * amr ~
(ii)  standard deviation; £t !.”.:]r_' 2
f,.r- ‘.-f‘
(iii) ecoefficient of vanation.
oer ﬁg (11 marks)
(¢}  Using the resnlts obtained in i&},@dm the investor on which stock to invest in.
c) \ (1 mark}
o3
A {a) Explain foar mrnpr.:ueﬁ& of time series. {8 marks)
(b)  'Eable 3 shows the production in thousands of tonnes of commodity Y by a company for
& period of eight years,
Tahle 3
Year 1990 11991 11992 11993 | 1994 | 19495 | 1996 | 1997 s

Production *000' | 36 48 7 &0 66 o8 2 |y 82

fi} Using the method of least squares, determine the trend equ&lim

()  Estimate the prodoction volume for the year 2000,
(12 marks}

6. (8)  Explain five benefits a country may derive from participating in international trade,
{ 10 marks)

(b}  Table 4 shows the weekly rent of 320 houses.
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Partial areas under the
standardined normal curve

0.0 0.0000 | 0.0040 {00080 |0.0120( D.OISS 0.0159 {0.0238] 0.0279 | 0.0319 | 00359
01 00388 00438 [00478 [0.0317] 0.0857 0.0596 {00636 0.0678 |0.0714 | 0.0753
0.1 0.0793 | 0.0832 | 0.0871 {00910 0.0948 mg{! 0.4026] 0.1064 | 0.1102 01143
0.3 011731 BT {60255 {01293 ] 0.1931 [ 0.3 D.1406] 01443 | 0.1430 | 01517
0.4 0.1354 | R.189) (01678 |0 1664 | 0,1700 | 0.1738 0.1772) 01808 [0 1844 [ 01079

05 81915 01930 [0.1945 {0,7019 | 0.2854 0.2086 | 0.2123] 0.2157 | 0.2190 | 0.2714
0E 0.3747 ) 02291 10.2324 }0.2357 | 0.2389 | 0 3433 0.2454 u BE | 0.2517 10,3849
0.7 0.35800 0.7611 {0.7642 |0.2673 | 0.2704 | 0.2734 0.2760) 0.37%4 | 0.2873 | 0 7553
0.8 0.2881 0.7310 10.939 |0.2967 | 0.2995 | 0.3023 | 0.3021| 03078 | 0.3 106 0.3133
o0s 031591 03186 [0.2917 (03238 0.3264 | 0.3789 | 0 3718 €3340 | 0.3365 | 03389
1.0 0.3413| 03438 |0:3451 (03488 L0308 | 0.3531 QLI554] 03577 | 0.3599 | 0267
1.1 03643 | 0.3665 10.3686 10.37081°0.3729 | 53749 | 0.3770| 0.37%0 | 0 3810 0.3830
1.2 03845 0.3869 10.3888 | 03907 n.2928 | 03944 3962) 03580 | 0.3997 | 0.401%
1.3 04032 | 0.4049 |0 4066 82| 0.4099 | 0.4115 | 0.4131] 04147 | 0. 8183 0.4177
14 0.4192| D.4207 | 0422204236 | 0.4251 | 0.426% | 0.4279| 04791 0.4306 | 04215

7

15 04132| 0.4345 |0 [0.4370| 0.4282 04254 [ 0.4406] 04418 | 0.4430 {04441
1.6 04452 ] 04482 4 | DA484 | 04485 L0:4505 GASTS 04525 | 04535 | 04544
1.7 043341 0.4564 | 04573 |0.4587] 0.4591 | 0.4299 | 04508 04616 | 0.4632% | 04832
1.8 046411 04649 | D 4656 | 04664 | 0.4871 [0.4678 | 0.4588| 04633 04699 | b.4T08
19 C.4T13| 04718 (04736 |0.4723 | 04738 | L4744 u.nacul 04758 | 04762 | 04787
20 04772 04778 104783 |0.4785 | 0.4793 | 0.4798 |0.4803] 04808 C4BY2 | 0AmT
il u..:g: D.482€ (04830 [0.4834 | 04538 04847 0.4B46] 0.4850 | 0.4554 | 04837
22 04581 | 0.4864 | 04868 | 04871 05578 [ 0.aa78 04801 0.4884 | 0.4842 | 4050
13 O4ES3| 0.4896 | 0.4898 | 0.4501 | 0.4904 | 0 4906 04309 0.4911 [ 045913 J 04518
Za 0.4318] 0.4920 [0.4922 |0.4925| 04927 | 0 4929 04331 04937 | 04904 | 0438
25 0.4 04540 (04941 | 04943 ] 04948 04346 [ 04548 04945 04551 04552
b 0.4353} 0.4955 [ 04956 | Q4957 ] 04959 [ 0.4560 | 04541 64952 | 0.4563 | 04564
17 04565 | 0.4966 | 0.4967 [0.4968] 04965 | 0 4970 ﬂ.;{!‘i; 04372 0.4973 | 04574
i3 04974 0.4975 | 04974 | 04997} 0.4917 | 0.4575 0.4878) 0.4580 | 0.4580 | 0.458]
19 04381 | 04982 |0.4983 |6.4583 | 0.4o84 04584 [04985] 04985 | 4588 | pisas
F
1.6 L 04387 | 04387 | 0.4988| 04908 | 04989 04383 04988 | 0.4990 | 04990
1.1 0. 0.4331 104591 104991 0.4992 | 0.4992 | 0. 0.4993 | 04592 | 0L499)
13 o 04993 10,4994 | 04994 | D454 [R5 2] IH 4] 0asa | 04995 | nass
13 0.4333] 04995 | 04993 |0.4995| 0,49%6 | 04996 0.4996 | 0.4596 | 04997
14 04997 | 04997 | 04997 [ 0.4597] 04997 | 04397 lua:i:r 04997 0.4997 | 0.4998
F
13 04398 0.4998 | 0.4992 | 0.4598| 04998 | nuoen 0.4998| 04938 | 04998 | 04571
i 04958] 0.4998 {0.4999 10,4599 Q4299 QAT99 |0 4Y9%| 0.4799 | 04559 | Ait
i1 0499 | 04 04973 (04599 04999 | 0.4529 | 04998] 0 4999 Q4599 | Lise
i QA4S ] 0.4999 (04999 (04999 | 04999 | 04999 |0 4509 0.4999 | 04999 | L4799
1y mmm&m%mmmn.mumm
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